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Note : Four choices A, B, C, D to each question are given. Which choice is correct, fil that circle in front of that question number on the
Objective Bubble Sheet. Use marker or pen to fill the circles. Cutting or filling two or mare circles will result in zero mark in that question.

Express 7:61 x 10" to Ordinary Notation : : Sndrur61x 1074 VAU

(A) 7610000 (B) 76100 (©)  0.00761 (D)  0.000761 L

The Valueof "% is____: D eeed 11 @

@A -i ® 1 @ -1 (D)  +i

IfB=[_5 ::]then—ZBwillbe: :JndJ—ZBiB:[_: :‘:] S| @
3 -6 - - 10 -8 ’

w [3%] (72 © |4 MEECHEA

(Va3 +Vb®) (Va3 -Vb?)isequalto___: i e diVa® +VD3) (W -Vb®)| @

W S ® b (© a-b @ &P

x = 0is a Solution of the Inequality _____ * : 4‘:.4//4 forf Lozt fx=0 (B

A x>0 @) 3x+5<0 (O x+2<0 (@ x-2<0

The Square Rootof a2 —2a+ 1is____ : 45.-..--(‘}/l11g(a2—2a+1 (6

) +(@+1) ® t(-1) © a-1 (D a+tl

Find ‘M’ so that x> + 4x + m is a complete Square : | ¥ bl J¥ x2+4x+mé£du/d/ m D
@w s ® -8 © 4 DO 16

Point (2, ~ 3) lies in the Quadrant : P eSO (2,-3) L @)

@ 1 ® 1 © m ®

In a Parallelogram Opposite Anglesare _____ * Y U — il S| (9
[€A) Congruent S (B) Equal 4/«

(C) BothAandB (9Bl A (D) None ofthese u.’." u’( é:f

The Symbol of Congruentis ____ : é.éndlﬁfluwcg— LS| (10)

@w = ® = ©© *F= O

Distance between the Points (1,0) and (0, 1)is g il 800, 1)t (1,0) 58 (D)

@ VZ ® 2 © 1 M o

PR A g ,Lumc,;’..":,fl.gf4x>‘;ﬁusf ez i $of J- -___-J( 12
Right Bisection of a means to draw a Perpendicular which passes through the Mid Point of Line

Segment :
(A) Line ¥ (B)Ray Ub#  (C) LineSegment L5 (D) Angle oo

A Quadrilateral having each Angle of 90° is called N c‘:-sllzr —eeen 90° 22 s ¥J* 'y 4 £ (13

(A) Parallelogram  {usuigsi#” (B) Rectangle S (C) Trapezium Jjs5 (D) Rhombus v

Y. i P S e S35 Sl 1 a8l 5u4um@/,u, 14

Parallelograms on equal bases and having the same (or equal) altitudes are inarea :

(A) Unequal 4146 (B) Bqual 4z (C) Congruent 1 (D) Similar 4liis

Similar Triangles are in Size : D, 11 7/ J— S e aliaa (15)

(A) Same (FLi  (B) Parallel Yi1#  (C) Different ¥ (D) Equal 4«
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Note : itis compuisory to attempt (6 - 6) parts each from Q.No.2 , Q.No.3 and Q.No.4. Attempt any (03) questions from Part Il

While Q.No.9 is compulsory. Write same Question No. and its Part No. as given in the Question Paper.

36 = 2x18 | Make diagram where necessary. -uftw‘fdﬁnduﬁugz (Part—D il 4>

Find the Additive Inverse of given Matrix : A= [ -§ g ] 2 Z-:((:L"' V )é' J; (JG’ 2_1’.27)
| Simplify : 4/6ax5 yo Py
Evaluate @ : £ ~d)® - ’:fg(yl” s
Write in the Form of Single Logarithm 2logx-3logy ; : éuﬁd‘(’gf(;/b’) ol
Find the Value of ‘X * from log , .5 = ;1; X ; -érﬁ”hpé.gf‘x’cuﬁ logg,s5 = % X
Define Surds and give example. ~ s )& sty g 12
Reduce to the Lowest Form. -‘-?—(—(:Tt—};, _Zf:’.’(f,/é‘wfq‘}/‘?
Factorize : 1-642° D $E
Factorize : 8 x*-40 x + 50 D E A
Find the H.C.F of 39x y’z , 91 x°y° 2’ p e P
Define Linear Equation and give an example. s e L é_g{ /7 J »:A;Vub.
Solve the Radical Equation. VX +3 -7=0 A B S PN 7
Draw the Graph of Line. ‘ X = -4 et K

predl e o amaliS e Sy = mxtc S 2x+3y-1=0

Express the Line 2X *+ 3y — 1 = 0 inthe form Yy = MX + C then find the Value of M and C.

Find the Mid-Point of given Points. ~ P (~7,4) , Q(6,-2) b i
Find the distance between given Points. A(2,-6) , B(3,-6) ..Ef.;pl”‘,l‘b'(},lf'u T
Wite the Symbols of Congruent and Similar. et § e J 1
Define Parallelogram. _ziuy /‘.'. d/ Lyt s

.mﬁ=6cm~§ér}”’ mAL I it $0f ¥ AB k5.5 CD /i

CDis the Right Bisector of the Line Segment AB.If mAB = 6 cm, Find m AL.

U L L et 8 cm i 6 cm , 10 cm Sy /e

Verify that 10 cm ,6 €M and 8 €M are the Lengths of the Sides of a Triangle.

Describe the Practical Application of Similar Triangles. - Sl et S e alata Ut J Kinpis
B S L I 125G 15 KB

Verify that given Measures are the Measures of the sides of Right Angle Triangle.

a=z=6cm,b=4cm,c=2/i3cm

s —

(i) Z/JI;’

i) 3AUr

(i) 47U~

(i)

(iii)
(iv)

P.T.O

o
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Find the unknown Value in the given Figure. ) -zf_:r)" Iy r:‘” 4 u‘:J/’ (3( ¢ (v)
i JZ em
1cm
Define Rectangular Region. - Ay J Sk &}/ (vi)
Find the Area of the Triangle. -’c_{r}“‘ 5.8 e (Vi)
10 cm \
16 cm
Construct A X Y Z inwhich : m¥Z=T.Scm,mXY=6cmym&x=90" : Sielk AXKY Z (vili)
Define Centroid of a Triangle. -éu—f/? Sus, (ix)
(24 = 3x8) (Part — ID) pgs 4>
(4) Solve by using the Matrix Inversion Method. -éd’ o b JJ :ﬁ" Z:u’.}ﬁ' (v..d‘) 5/.'" Jlf
4x ~-y=2
x~-2y=-1
(4) Use Laws of Exponents to Simplify. e ou S lied (@)
(81)" x 3°- (3)™" (243)
(9°")(3°)
3 . /A OEE ” .
(4) Use Logarithm to find the Value of : L“—{(a:‘:a—fa—")zlgs—q : un/()*‘.:.é:, 24 u((ljb')’ (& 6+/Ur
(4) Findthe Valueof X + Yy + Z if : Ny piredd x+vy vz ()
x*+ y* + 2z =98
Xy +yz +zx =42
{4) Factorize : x*-a*+2a-1 : gj_/df () 74
(4) Find the Square Root by Division Method : Zg{/((:h"’ o)l J#(»j 24 ()
x* - 10x® + 37x* - 60x + 36
(4) Solvcfor'x %% ' 3-45)( I - :'3-= § : 2:.:(’)"’_’.(()’ (c'abl/ (L—“") 8/&}'}’
(4) SIS G BAL N o9 S Lol st ABC &l ()
Constructthe A A B C. Draw the Bisectors of their Angles and Verify their Concurrency.
mlr6=4.5cm,m§é=3.1 cm,ma=5.2cm
(8)  _ctnliy Lt ] oo e SN L LS S lai Egsti§ N S Szt 9, Uiy

Prove that any Point Inside an Angle, Equidistant from its Arms, is on the Bisector of it.
OR L=

(8) s t51L e ) unliulp sl $is Lt i 15 vi 2 Jeo1 Loy S35 Bts 4 su6 Gf S i
-JUJI A U:JJ »(Un
Prove that Parallelograms on the same base and between the same Parallel Lines (or of the same Altitude)

are equal in area.
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Note : Four_choices A, B, C, D to each question are given. Which choice is correct, fill that circle in front of that question number on the
Objective Bubble Sheet, Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that question.
[‘/;5; \%]isa____Matrix : P L e f[*fs %] 1?}"
(A) Zero ($3* (B) Scalar A () Unit Jieb (D) Singular .t
-1/2 =
(g%) vE @ 16 ® 6/7 (© -1/6 @ -6/7 P omeee = (g) 1/2, 6l
log.a= __ : a1 ® o © -1 O 10 ! - =log.al ®
The degree of Polynomial 3x% —2x3yis : q.t} 4 Jd/rﬁ ——3x=2x% @
@ 1 ® 2 © 3 ™ 4
Factors of 8x> + 27y3 are : wQ/LIZl Z8x3+ 27y3 €))
(A) (2x+3y) (4x2 +9y?) (B) (2x - 3y) (4x2 - 9y?)
(C) (2x+3y) (4x* - 6xy + 9y*%) (D) (2x - 3y) (4x®+ 6xy + 9y°)
The Square Rootof 8% —2a+ lis P BAiipka®—2a+1] (B)
W +(a+1) B a-1 (€ +(a-1) (D a+l
t el e bl et < > < U ukdd] @D
A Statement Involving any of the Symbols < , >, <, or = iscalled
(A) Inequality sl /.:‘ (B) Equation «hsls
(©) Identity sterngd Lod 8P rehlasd (D) Linear Equation ehibsfnck
If(x—1,y+1)=(0,0)then(x,y)is -t *_ee 4"—414(x,y);n(x-—l,y+1)=(0,0)/l €:))
@w (1,-1) ® a,1) @ 1,1) O a,-1)
Mid-Point of the Points (-2,2 ) and (2,=2)is : t e Bt 2,-2) . (-2,2) s8] (9
@ (2,2) ® (-2,-2) © (0,00 ® (1,1)
The Symbol used “for Correspondence” is : q.&ndb“’l ..... et d L e il "] (10)
@a - @ <« o = O =
PR -V B 1 NS PN YL ST N C T
Diagonal of a Parallelogram divides the Parallelogram into_ Congruent Triangles :
@ 2 ® 3 © 4 @™ 1
B2 d’; ..... Lalsfe kit Gof LEUn sl sli 557 (12)
The Right Bisectors of the sides of an Obtuse Triangle Intersect each other _____the Triangle :
(A) Inside .41 (B) Base osf  (C) Hypotenuse s (D) Outside s
2 S Lot s Lt T Ut asliia g 5 S1| (13)
If two Triangles are Similar, then the Measure of their Corresponding Sidesare
(A) Equal 4z  (B) Different i  (C) Proportional t5 (D) Large &%
Areaof given Figureis Sem " S— S.6F AR
4om
-
(A 18em® ) 32em® (O 16em> (D)  36cm’
t s & It S UF LB S| (15)
If the three Altitudes of a Triangle are Congruent, then the Triangle willbe ______ ¢
(A) Equilateral {usuifol- (B) Right Angled 311276
(C) Isosceles LF." P (D) Acute Angie 115k
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Note : itis compulsory to attempt (6 -- 6) parts each from Q.No.2, Q.No.3 and Q.No.4. Attempt any (03) questions from Part Il
While Q.No.9 is compulsory. Write same Question No. and its Part No. as given in the Question Paper.

36 = 2x18 | Make diagram where necessary. ey L P s, U0 (Part—-D fil 4a>

Find the Additive Inverse of given Matrix : A= [ ~§ g ] : gp"*u’ﬁ"d? Ll [2_._: N 2-4U»
If Z=2+ 4, find the Value of ZZ LI ed§ 27 Fz=244 N1 (i)
2
4a3 b’ :
Simplify ( > P (1]
— =/ (i)
Findthe Valueof @ : log,s = 0.5 s deeifa (iv)

-gei=df log 30 7 log 5 = 0.6990 , log 2 = 0.3010 , log 3 = 0.4771 /i (v)
If log 5 =0.6990, log 2 = 0.3010 , log 3 = 0.4771, find the Value of log 30.

Ifx=4—\/ﬁﬁnd~i' _q/plviixux-\/ﬁ/r (vi)

Simplify : 12_2_‘)@13‘_5*_5 s & A2 (vii)

Factorize : 25 x* +16 ~40 x s gl gf (viii)

Factorize x*-11 x - 42 P& gd (i)

Find the H.C.F by Factorization- : 8 %* -~ 128, 12 x* - 96 vk Fingian (1) 34U
Solve the Equation. V3x+4 =2 S e (i)
Solve the Inequality : 3"; é - zx; 151 e fS e g (i)

-ép"’uf"fgf ComuoliSusty=mx+c f3x-4y-5=0 i (iv)
Find the Values of M and C of the line 3X ~ 4y — 5 = 0 byexpressinginthe form Y = mX + ¢
Draw the Graphof Y = — 1. b Sy = —1an. (V)

Find the distance between the Pairs of Points : A (9,3),B(7,2) : .’:fl:pl’”.lﬂliuk/)éuﬁ:?ﬁ s (vi)

A(-8,1),B(6,1) ; :{_fplwﬁéw Vs b i b Uinlsw (Vi)
Find the Mid-Point of the Line Segment joining each Pairs of Points : A (-8 ,1),B (6, 1)
Define S.A.S Postulate. -g{f._él/‘."dli:*r ¥ yo-j-e (viii)
What is meant by Interior of a Rectangle? Tl /‘l/ Py ﬁd..ﬁ/ (ix)
Define Point of Concurrency. 2y B (i) 4,/ )iy

ks el et 7 cm i dem ,2em L2348 (i)

Verify that 2 €M ;4 €M and 7 CM are the Lengths of Triangle or not? Give reason.

Describe Practical Application of Similar Triangles. S e el L/IJ 2o s (Tii)
Verify that the Measures of Sides are Right Angle or not. L Lt ST (V)

a=9cm,b=12cm,c=15 cm

2 W R




[L.K. No. 94 |

LWFP->—

Find the unknown Value X’ in the Figure. ered X eyt f

2cm X

2¢cm

LS a S m o x ot ABCD L6

. - D c
Ifthe given figure ABCD is a Parallelogram then find X and M. .
(5m+10p° 1%
55°
A

Find the Area of the Figure. -épb’ S.6F

2cm

4cm
-ér}*’@fu’ 2° yo,xo r}”t _4‘-_,_3,4(;( A ot AD UABC WCMUM;[/G‘BJ

If the given Triangle ABC is Bquilateral Triangle and AD is Bisector of Angle A, then find the Values of
A

unknown x°, y° andz® .

Constructa A ABC in which : mE=4.2cm,m5;=3.5cm,m40=75° s SAJS et AABC

(24 = 8x3) (Part — ID) pys 4c>
(4) WS eralds LASS Uiz Ll 7

Solve the System of Linear Equations by the Cramer’s Rule:
' ax -2y =4
-7x+2y=-10
(4) Ssimplify : Y

(i'f)'m'. (ﬁ)q"-:-S(aP.a')P"f,a;ao

ad a’

(4) Use Log Table to find the Value of : 0.8176 x 13.64 S il
(4) Yl x vyt z in xy+yz+zx=46wx2+y2+z"’=81)7
If X2 + y? + 2% = 81 and Xy # yz + ZX = 46 then find the Value of X +ty+z

(4) Factorize the Polynomial by Factor Theorem : LSRG e ra S8F
x® - 6x*+ 3x + 10

(4) Find H.C.F by Factorization : L i P sk
X 2x2 X, 03+ 2x -3 ,x* +3x-4

3-5x, 1 _ 2 » .
4 3 3 dppadd X

(4) Constructthe A ABC and Draw Bisectors of the Angles. -g oL Ut s 2t AABC

mz\—E=4.2cm,m_B—(_:=6cm,mEI_\=5.2cm

(8) oGl s L3 A5 L5 7 n(‘fu 4 J’L‘d})’&ﬁﬂ&ﬁz’ﬁb{’ /’f?”.;:rc"

(4) sotvefor X : |

Prove that any Point on the Right Bisector of a Line Segment is Equidistant from its end Points.

OR L

4

(8) -Ju:'z/.l/,d,.}'/ 03 Ut QNI o8l e ibl £Jﬂ&'/&£&k"

Lk l Prove that Triangles on equal bases and of equal Altjtudes are equal in area.

)

(vi)

(ix)
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(<)

5/

(&) 6-Ur
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